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Section 1 - Computer Literacy

printf(“%d”, 1);

1) Which of the following is valid IP address? }

A) 192.168.322.8 A) Syntax Error

B) 1.345.181.55 B) None of the other three
C) 734.10.7.88 C) 01289

D) 191.128.54.110 D) 1289
2)

is used by the kernel to increase the

resm and throughput. 6) Which one of the following resource is not

necessarily required on a file server?
A) Buffer cache

. A) Monitor
B) Spogllng B) Processor
C) Pooling C) Network
D) Swapping

D) Secondary storage

3) The Control along with = key does 7) Multitasking on a single monitor is achieved using

A) all caps _ A) time sharing

B) superscript B) both frequency and time sharing
C) shadow C) none of them

D) subscript

D) frequency sharing

jv)hill?’yr ht?iwvirgu%h tthfer Srinafhk p?mtke; Is incremented 8) What will be the output when the following print
€ retrieving data fro € stack: statement is executed?

A) incremented by 1 print("a"+"bc")

B) incremented by 2

C) decremented by 1

A) bca
D) decremented by 2 B) ab
C) abc
D) a
5) What is the output of execution of following piece
of code?
. . 9) What is the new value of x?
int main(){
. ] #include <iostream>
int | = 01289; using namespace std;
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void fun(int &x)
{

x = 20;
}

int main()
{
int x = 10;
fun(x);
cout<< “New value of x is " << x;
return O;

A) 15
B) 20
C) 10
D) none of the given options

10) The mechanism that the paging unit uses to
convert linear addresses into physical addresses is

A) Physical conversion mechanism
B) one level table mechanism

C) two level table mechanism

D) Linear conversion mechanism

11) If ASCII value of ‘X’ is 120 then what is the value
of H if

H= (X —‘w)/3
A) 2
B) 4

C)0
D) 1

13) To manipulate TCP/IP routing table, which
command is used?

A) Traceroute
B) Route

C) Ifconfig

D) Ipconfig

14) What is used for video conferencing?

A) Dropbox

B) Skype

C) Gmail

D) Google drive

15) Which of.the following is not an encryption
standard?

A) DES
B) TES
C) Triple DES
D) AES

16) What is answer of this expression, 22 % 3?

A) 0
B) 7
C)1
D)5

17) #include<stdio.h>

12) Section which can have tags that are not directly int main(){
displayed on the page. .
int *p , a=10;
A) <html> p=a;
B) <title> ’
C) <body> p++;
D) <head>
printf(“%d”,*p);
}
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The output of the above code is:

19) What will happen when we use void in argument

passing?
A) 11
B) Compiler Error i) It will not return value to its caller
C) 10 . . .
ii) It will return value to its caller
D) Garbage Value
A) Only i)
B) Both i) & ii) are correct
18) Which of the following query is correct for using C) None of the mentioned
comparison operators in SQL? D) Only ii)

A) SELECT studname, coursename FROM
studentinfo WHERE age>18 and <21,

B) SELECT studname, coursename FROM 20) What is used to modify the objects while using

studentinfo  WHERE age>18 and WHERE web browser?
age<21;

C) SELECT studname, coursename FROM A) attributes
studentinfo WHERE age>18 and age <21;

B) parameters
D) None of these

C) None of these
D) modifiers
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Section 2 - General Awareness and Aptitude

21) Lines of Latitude are often referred to as Parallels and 21) fxrem00381%) o= LR 03 SRV o7 baerb3d
the lines of Longitude are called

D) Searoo3 ridrien AR ID.
A) meridians
B) verticals A) ghyBSeadrive
C) contours B) eondesinied
D) degrees

C) wemBessrivd
D) anrisb

22) The four Vedas of the Indian scripture are Rig Veda, 22) 2500833 BRET0BNVT 4 Jedriwd hried, Todhaes,
Sama Veda, Yajur Veda and

Veda
doerd, Jed
A) Skanda
B) Atharva A) 8,03
C) ngfkntha B) ear
D) Digvijay

C) Bod, 3
D) &fzab

23) How the behavior of a perfect gas is governed, when 23) ;7233 SARW wBUITBRRYBRAT JoBPeRO) BORpeoe
it undergoes any change in a variable which control

physical properties? 00T SBrIob, Bert dabodBerh3a?

A) All the options are correct
B) Boyle’s law B) mrobes Sme0d
C) Charles’s law voTTe

D) Gay Lussac law

A) avgp T

C) 300k dmgo3

D) rie evo &° 30303

24) “The world is the great gymnasium where we come to 24) ‘& 2nd) o mﬁa‘ mzsodmabmd PO S0
make ourselves strong” is a quote by - ”

2IZGoerien wodgieds’ @dd& BeLBID?
A) Swami Vivekananda

B) Mother Teresa

A) 39, dBeseR08
C) Mahatma Gandhi

B) Sy@of @3¢m0

Page4of22

www.shikarat.com



Setld:55_10 Assistant_10Jull7_Batchl

D) Kabir Das

25) An
which makes them owners of stocks in the company

A) Employee Insurance Plan

B) Employee Pension Plan

C) Employee Provident Fund

D) Employee Stock Option Plan (ESOP)

26) “Compound interest is the eighth wonder of the world.

He who understands it, earns it ... he who doesn't pays it”.
Is a quote by?

A) Albert Einstein
B) AmartyaSen

C) Abraham Lincoln
D) Chanakya

27) is a girl child prosperity
scheme under Beti Bachao Beti Padhao.

A) Swaccha Bharath

B) Digital India

C) The Sukanya Samriddhi Yojana
D) Save the girl child

is a benefit plan for employees 25)

C) Bxe3, mood

D) 8)eo® oot

emdfaéeﬁri@r? 203 Pwood3
odpeas AT VST 30#301) Febn¥ S00387 N ST

A) 83 ddre aleeas

B) 083 doues odoerss

C) 83 A, A

D) &°83 e esady, oleenss

26) W38 B dot3e BT 3. VTR VFFTTBERRBID
3R, VoDBDTIN ... AP VTR, SerPDIee
B, HoB3DTIN . /WD 0353 BT,

A) ©OEsT OFF Qe
B) =3¢ Set

C) ew®o0 Oo8*

D) w6
27) 2Jeel 22IITIPe, 2Jeed BB Clelo)
D By DO ese;’)aioaomﬁ QD3
2,00 03eedS.

A) &3 o0

B) Beser @olad

C) RrB8me; I3yB oleens
D) Bex rva=y evdd

28) The statement "Change of internal energy is 28) “w¥N3 330h wRBIIBR eHRTN SIBRIVITE

proportional to the change of temperature” is supported by
which of the following.

VBT B BB B YN WoRBIY, B e30DBT.
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A) Gay Lussac law
B) Boyle’s law

C) Joule’s law

D) Charles’s law

A) rie o & o303
B) waader 30303
C) &Per dm03

D) weefs dogo3

29) Who gave this statement “External work can cause 29) ‘@8NS B3 Bomed BRAANT DAWTT SRAT

heat to flow from cold substance to hot substance. “

A) Kelvin

B) Gay Lussac
C) Joule

D) Clausius

23R, FSoDToZ eI, B BeLBDRY AeBTIDH
oo ?

A) 8O~
B) Re Y
C) aaedee

D) 59,0 abz®

30) Energy can neither be created nor destroyed. It can 3(Q) zéoj)ﬁ& soézb@mﬁoe BT Do3TB1ITNS

only be converted from one form to another. These

statements are known as

A) First law of thermodynamics

B) Second law of thermodynamics
C) Third law of thermodynamics
D) Zeroth law of thermodynamics

31) What is the purpose of Red wood viscometer?

A) Part of the head of fluid is utilized in Overcoming
friction

B) Absolute value of viscosity is determined

C) Fluid discharges through orifice with negligible
velocity

D) Comparison of viscosity is done

TGy, OBRY FeFw wowd TRBDT HIEoD TAHB,
BOISFJVBWD. B BeLBADIY
3dabererd33.

Q0T

A) BReerdSe S 1k Q5303
B) Baeerd8at & 2:3¢ Q0303
C) BReerd Bz 3 33e Q0303

D) Beerd;Pe, I I, w03

31) BRLE I, ecessIe svgedSeD?

A) ZBes3dbod BRSO W
WYBUrH33.

B33 By YIS,

B) &g Sodper IR IBFODIT.
C) 330 ReTRARAZ 30, SerdO T Se3oT
D) &ridod Beedd Boermond.
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32) The city of Ancient Rome was built on hills. 32) s GpeRS BERTRY By
A) seven DeeS Be3 TN,
B) five
C) six A) o
D) two B) o
C) et
D) oo

33) The measurement of temperature is based on:

A) Second law of thermodynamics
B) First law of thermodynamics

C) Zeroth law of thermodynamics
D) Third law of thermodynamics

34) In a school cricket team, Roshan aces at batting and
wicket keeping. Raghu is the captain and is good at spin

33) ToBROIT FeBID) WPHTY, BB

A) BReerd,BE, 3 23 d003
B) Bperd;3s, § 13 dogo3
C) Galeoerd S, B Mo, 3503
D) gteerdd, S, S 3:e dogod

34) 20D Tood 3B S0BRY TGpean® watdon’ BB JBes’

bowling. Deepak is a fast paced bowler and excels at~320T* € Bweo. O BoBF Tahs OID WID I
guarding boundaries. The coach foresees that the.team s3pee0f, Dexds Jend  POT', DD RoBORYR
will have to work on its Fast paced bowling and wicket ~ *

keeping skills. Hence he calls extra practice with BBFTBY dag3. BB Beexs® Serid 2P0t HF) Sdorf
&_ 00000 SO Td) JOHS TRIJw ITeR e.*)mzs?o’d 6852368305)@(
A) Roshan and Raghu Do, TS PRIHN D)
B) Deepak & Roshan O, 3B0inze.

C) All options are correct
D) Raghu and Deepak

35) In the first law of thermodynamics, the conservation 35)

principle deals with:

A) Bpednt Bd) BFH
B) Bexds® ) deeadn®
C) ovde

D) o @) Dexds®

PSeerd, [ I 13e 08 adros Joogme
33 BRabY FBBODIS ?

A) Mass

B) Energy A) 33003

C) Momentum B) 33

D) Heat -
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C) esdent

D) zon

36) World Diabetes Day is the primary global awareness 36) 5oy 33 De3BY DRDDBT W} wor)3 FeBTL A3,
campaign focusing on diabetes mellitus and is held on ” °

each year.

A) 14t November
B) 8" October

C) 5t December
D) 15t March

37) , also known as data-driven science, is an
interdisciplinary field about scientific methods, processes
and systems to extract knowledge or insights from data in
various forms, either structured or unstructured, similar to
Knowledge Discovery in Databases

A) Sociometrics
B) Economics

C) Psychometrics
D) Data science

38) On what the value of C is dependent in the relation of

Boyle’s law which states that at constant temperature PV
=C.

A) Quantity Of the gas

B) Atmospheric pressure

C) Molecular weight of the gas
D) None of the other three

39) Two bodies, each of which are in thermal equilibrium

with a third body, are also in thermal equilibrium with each
other. This statement is:

Drhdes BISTYN
sUORBIHIT.

do B3 IRe

A) 143e IS0
B) 8¢ es8p w0t
C) 53¢ 8Jowo®
D) 153e Sroess

37)

[ 20w F90deeN3 ITBT
JBS3e0d  IYSBANNYR, 8BOd 8HFSB, SOT0ead DI
DoRTR8 FBINY BOHB,B T,

A). Rredaleesdeds® (Sociometrics)
B) egrzog
C) J,Beeedeys (Psychometrics)

D) @eeso B, (Data Science)

38) weabek, dZo3B BT IV Jedares PV
FowoZTBY wus B3 Tert vToNBTHBT.

C 3

A) edod B0

B) 50328306303 233
C) ©duBOR WIS 303
D) adrmde o
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A) Zeroth law of thermodynamics

B) First law of thermodynamics BooDHS 0D BYNW BIYS WBOS  zeasSe
C) Second law of thermodynamics

BRODDBT. 8 BedSadw
D) None of these -

39) ©rneded ZeTIod SxIFedT JoBod eLzkBY

A) BReerd; B, S BoF; dTo3
B) 3xeerdBa, S 1:e dmg03
C) Bperd,BYe’, 3 23e do03
D) airexyde eo

40) Find the word that completes the bottom series: 40) 3% ROy, Beearrie VDT SBI, esad), I8,

Scooter, Car R, E30°, B
A) Bus
B) Airplane A) wxF
C) Cycle B) agros
D) Train
C) 3,30°
D) dyen

41) The Indian rupee sign X designed by D. Udaya Kumar 41) z5388ecd ~orid38 IS “Fwd™ JPrad Sweos
was presented to the public by the Government of.India B

on , following its selection through'an “open” ©0,093, 8. VBDBTTVT’ BT ITYRLP VT 2703ead
competition among Indian residents Ge@odd T UB D), 9038 J5ETH)
o o

A) 1st January 2008 Do edeesones 8.
B) 5" June 2014
C) 15" July 2010 A) 1 Se we; 2008

D) 20t August 2011 B) 5 Se wved; 2014

C) 153 =g, 2010

D) 20 e wes; 2011

42) State is called God’s own country. 42) oaaéda'ig( PBNTo38I  Je3ded
A) Karnataka 2oth sebeRrbzd.
B) Chandigarh
C) Kerala A) Buoress
D) Kashmir B) 23oRego’
C) 8edy
Page9of22
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D) 5230
43) is the national flower of India. 43) 79033 oa&geo:b BRIY).
A) Lily
A
B) Marigold ) 00
C) Rose B) @redrieees
D) LOtUS C) T'bUD?f)
D) 3z

44) Every year we pay homage to the Mahatma Gandhi 44) oaai 3 D3PI B, A 3 m Q) IS

8003
and other martyr soldiers who lost their lives defending the
sovereignty of the nation on this day. Dp3, Mo DD @33 DI,  IJ;I30R

DITo MPITDT I, OJwerh33.
& =

A) 14" February
B) 23 March A) 143 S0,30
C) 15 August 7

D) 30t January B) 23Se Ryoests

C) 153 st

D) 303 2330

45) Law of Kelvin-Planck’s says: 45) 8O~ - 08 508 BeWI3,

A) Conversion of heat into work A) 3% SoRSTIN FOSIEDITD
B) Conservation of heat DRI, BRI £
C) Conversion of work into heat B) zoad googs
D) Conservation of work

C) BurzR, TeaEmN BOSSFrODD
D) 8o Boogs

46) “If you judge people, you have no time to love them” is  46) "Qezbd asééﬁgﬁ& oYindeddond ©30R) Bed-e
a quote by

JIabde ANPHBY” awh abyed Jreab.
A) Mother Teresa

B) Swami Vivekananda
C) Pr!ncgss D-|ana B) 52, AesaRons
D) Sri Sri Ravi Shankar

A) 3of 3de0

C) ool Badross
D) #¢ 3¢ 3IBoBOF
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47) Name the capital of the state Mizoram

A) Aizawl

B) Jodhpur

C) Kohima

D) Pondicherry

48) is the capital of Telangana.

A) Thirupathi
B) Hyderabad
C) Hosur

D) Chennai

49) The question given below consists of a statement,
followed by three arguments numbered I, Il and Ill. You
have to decide which of the arguments is/are ‘strong’
arguments and which is / are ‘weak’ arguments and
accordingly choose your answer from the alternatives

given below each question.
Statement: Education institutions should prescribe
uniforms for their students
Arguments:

I. No. This will be unwanted control imposed on the
students leading to curbing their freedom to choose attire

of their taste
Il. Yes. Uniforms is a must to enforce discipline and
decency in attire among students

I1l. No. Uniforms will help in bringing decorum in the
manner the students dress but it need not be mandated.

A) Only | & Il are strong
B) All are strong
C) Only lll is strong

47) QBRETI0 TIVTW TOBLII

A) oameef
B) 2eedm)of
C) Bredoad
D) moofieied

48) BL0oMed ToRHN

A) 333

B) 8,5oewen®
C) Bp>pdh

D) 1

49)
YN 37,0l woth BePBabRR, VrieoBdt) eads, I, I, Il oot

SReBIDHT IDFEINRW 2. YNV o= IDPeS/Mw
Bwozdd) P PR DWFOTITE) D0WBRY e
A0 Bt Bpe3 T eLBTRVE esad, So8.

TP 3z SoPnw D, YRR IDIT T,
JedJle
VDB :
| 20, 2B JTYBFRD D, DUt 35,03 I FODF)

09,803, 3, ©INZ; AoDOZ AT, LLOTIID T

I &P, ITYBENVY VDAY B D) aleerBab
%500rte 9o IDBI D) v BB BND

. JoBeny  evdBRY, —woosdDBY  IDIINRW
Sozorh3S 8T ach 3mgadaeNTeredeh

D) Il'is strong A) FpBOSHT DR GCBIDD Sy, WL
B) oo I23FINW S
C) 21830 IDFES Srod) Bww
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D) o33s IDBES S0, Jwe

50) A perpetual motion machine is one which produces 50) 203,38 BoIdod o3, BeINS e B, w3
power without consuming any external energy. Such a

machine is, BEoDRY, GVTODBT. &8 aboZ B,

A) Impossible  according to second law of A) FSeerd B, 3 o= ST03T B500 g
thermodynamics © ® )

B) Possible according to first law of thermodynamics B) 33perd;Sa, 8 oxe A0303T 8590 TG,

C) Impossible according to first law of thermodynamics

C) Bperd,;BYes, 3 0e ATI0IT @500 ©TG;
D) Possible according to second law of thermodynamics

D) 3xeerdRa, 8 9=t dTR03T 590 TG,

51) India has official languages

51) 270038y 0033 BRYRY, Bp0BH?
A) 15 A 15
B) 18 B) 18
C) 12 C) 12
D) 22 D) 2

52) C2C and B2B are two of commercial transactions.  52) meﬁa 55mdﬁg TR BFednw C2C &R B2B, C2C
C2C, stands for Customer-to-customer, is a process for -

selling products directly to . B2B, stands for ©0B0 3RFIT" & SFI0* Fedzon
business-to-business, is a process for selling products or ZryovadredS B3,0h B2B 2088 AT & DO 2083
services to other businesses.

Q33 m{smbﬁ@ﬁ 03RS T T TS AeRIYI.
A) Share holders

B) Key stake holders

A) Zedwedh
C) Employees B) 80830903
D) Customers
C) P80
D) mo,@3h
53) Which of the following gases has the fastest moving 53) 3YA3 Wad @R FenmeN BORDI  eEPRP
molecules? d
BRODT?
A) Nitrogen
B) Oxygen A) 3B,ednenrt
C) Hydrogen B) es2y233
D) Chlorine )
OF R
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D) 8pedx*

54) First Indian Astronaut to travel in space 54) 25033 e33R Bo NN dred,

A) Sunitha Williams A) DAB IODRF
B) Kalpana Chawla ® "
C) Rakesh Sharma

B) 3e) 70 w2
D) Neil Armstrong

C) oeodez B3roF

D) Qeex SRFEY, T

55) is the President of Afghanistan. 55) @%5@55 @ﬁég

A) Halimah Yacob
A

B) Hamid Karzai ) Becro alrodeeds

C) Hamid Ansari

B) 38zben* 3yordues’
D) Nawab Shariff

C) Bers 79,0

D) Sz @80ec

56) Which one of these does not change when two or more 56) o egme BYS SHAYRY vz IDHBeeOIBBADY
bodies which are at thermal equilibrium are brought - o ”

together? 00830 PNV AR BRI drerhPHde.
A) Density A) Jo0q,3
B) Pressure B)
C) All of these w3
D) Temperature C) avae
D) mv337e:
57) Find the right word to complete the sentences 57) XObed BJBIR, TeBd EB,  Iprarried.
Gawk means to in Amazement h h
St 90TT
A) blink
B) smile A) Be DEDSHRT
C) stare
B
D) cry ) Soriyrd
C) 3x)8wn RBeeda)m
D) esbdycd
Pagel30f22
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58) Among the following what can be said as center of 58) 3¥AIYRHO APy, SeendBod Beod) dFVBDD?
buoyancy? “

A) Centre of gravity of the body A) BRI rbhmy,Baen 3608
B) Midpoint between C. G. and metacentric

C) The point of intersection of buoyant force and center
line of the body

D) Centric of displaced volume fluid

B) &. 8 @3) SHe3-os SBAS DFDowd

C) Beens Bdab eJeBRT Do DR SRR Beod, Sead
D) Bve030rieor B33 BO@ERRT Beod,

59) The temperature of an Isentropic flow 59) DJoedRdE BOIS SoBTos

A) Is independent of Match number A) RresF Sowddod B BoBmeNd
B) Is a function of Match number only

C) Cannot drop and again increase downstream 0 4
D) Cannot exceed the reservoir temperature RO BRSSPI D BejTen TG,

B) @ @rees® Sowd seobemand.

D) 2e030hT 39838,03 B-ernic

60) What is the nature of Molecular collisions in gases? = 60) &donvd @3 Farsad JdeaTeh?

A) Inelastic A) 33 B3IV
B) Elastic 3 K
C) Plastic B) 48 myz33s
D) In plastic C) m2d5°
D) apds* oy
Pagel4of22
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Section 3 - General English

61) Which of the following is the correct version of the
given sentence

When | turn forty five | would have been a coal miner
for twenty two years.

A) When | turn forty five, | could have been a coal
miner for twenty two years.

B) When | turn forty five, | will have been a coal
miner for twenty two years.

C) When | turn forty five | could have been a coal
miner for twenty two years.

D) When | turn forty five; | will have been a coal
miner for twenty two years.

62) Rewrite the following sentences as reported
speech

| said to him, "Why are you working so hard?"

A) | asked him why had he been working so hard.
B) I asked him why was he working so hard.
C) | asked him why he was working so hard.
D) | asked him why he had been working so hard.

63) Choose the antonym for the following word
Excoriate

A) Regurgitate
B) Prevaricate
C) Berate
D) Acclaim

64) Choose the synonym for the following word
Blandish

A) Relish
B) Greet

C) Coax
D) Return

65) Rewrite the following sentences as reported
speech:

David said to Anna, "Mona will leave for her native
place tomorrow."

A) David told Anna.that Mona would be leaving for
her native place tomorrow.

B) David told Anna that Mona will leave for her
native place tomorrow.

C) David told Anna that Mona would leave for her
native place the next day.

D) David told Anna that Mona left for her native
place the next day.

66) Choose the synonym for the following word
Undulate

A) Reject

B) Deny

C) Understand
D) Oscillate

67) Choose the antonym for the following word
Recant

A) Purchase
B) Bid

C) Assert
D) Mend

68) Choose the antonym for the following word
Malign
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A) Praise
B) Align

C) Slander
D) Organize

69) Choose the synonym for the following word
Bolster

A) Reinforce
B) Allow

C) Bulletin
D) Remand

70) Choose the antonym for the following word
Obfuscate

A) Cloud
B) Languish
C) Clarify
D) Respond

71) Choose the antonym for the following word
Abscond

A) Punish
B) Announce
C) Depart
D) Demote

72) Choose the antonym for the following word
Elucidate

A) Obfuscate
B) Inspire

C) Transpire
D) Outdate

73) Which of the following is the correct version of the
given sentence

Once the train arrives we will be on are way.

A) The train will arrive, we will be on our way.

B) When the train arrives; we will be on our way.
C) Once the train arrives, we will be on our way.
D) Once the trains arrive, we will be on our way.

74) Rewrite the following sentences as reported
speech

He said to her, “What a cold day!"

A) He exclaimed that it was a cold day.

B) He exclaimed sorrowfully that it was a cold day.
C) He exclaimed that it was a very cold day.

D) He told herthat it was a cold day.

75) Choose the synonym for the following word
Avenge

A) Retaliate
B) Revenge
C) Castigate
D) Harm

76) Rewrite the following sentences as reported
speech

The tailor said to him, "Will you have the suit ready
by tomorrow evening?"

A) The tailor asked him if he will like to the suit ready
by the next evening.

B) The tailor asked him that he would had the suit
ready by the next evening.

C) The tailor asked him that he will have the suit
ready by the next evening.

D) The tailor asked him if he would have the suit
ready by the next evening.

77) Choose the synonym for the following word
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Pillory

A) Applaud
B) Extol
C) Revere
D) Scorn

78) Choose the synonym for the following word
Mollify

A) Contradict
B) Disseminate
C) Assuage

D) Help

79) Which of the following is the correct version of the
given sentence

Gas in Alaska is the most cheapest gas in all the
world.

A) Gas in Alaska is the cheapest in the world.

B) Gas in Alaska is the cheaper than others in the
world.
C) Gas in Alaska is more cheaper in the world.

D) Alaska has one of the cheapest Gas.

80) Rewrite the following sentences as reported
speech :

Kiran asked me, "Did you see the Cricket match on
television last night?"

A) Kiran asked me whether | saw the Cricket match
on television the earlier night.

B) Kiran asked me did | see the Cricket match on
television thelast night.

C) Kiran asked me whether | had seen the Cricket
match on television the earlier night.

D) Kiran asked me whether | had seen the Cricket
match on television the last night.
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